

Alachua County, Florida

Procurement

Larry M. Sapp, Procurement Manager County Administration Building, Gainesville, FL 32601 (352) 374-5202

EXECUTIVE SUMMARY ITB No. ITB 23-15-TW Annual Purchase of Sign Material

RESPONSE DEADLINE: August 31, 2022 at 2:00 pm

Thursday, October 13, 2022

SOLICITATION OVERVIEW

Project Title	Annual Purchase of Sign Material
Project ID	ITB 23-15-TW
Project Type	Invitation To Bid
Release Date	July 27, 2022
Due Date	August 31, 2022
Procurement Agent	Theodore White
Project Description	The Alachua County Board of County Commissioners is seeking responses from qualified vendors to provide firm fixed bid prices for annual purchase of sign material
	Services are to include all labor, materials, supplies and equipment in accordance with the terms, conditions, and specifications set forth within this solicitation.
	Vendors must be fully capable of performing the required services while adhering to all laws, specifications, procedures, protocols, applicable guidance, and industry best practices.

INTRODUCTION

Summary

Alachua County Board of County Commissioners are calling for and requesting the submission of ITB 23-15-TW Annual Purchase of Sign Material

The herein included sections along with <u>Instruction to Bidders</u>, <u>Scope of Work</u>, <u>Submittals</u>, together with all attached <u>Attachments</u> herein identified, constitute the entire bid package. Specifications and supplementary documents are essential parts of the ITB and requirements occurring in one are as binding as though occurring in all.

The Alachua County Board of County Commissioners is seeking responses from qualified vendors to provide firm fixed bid prices for annual purchase of sign material

Services are to include all labor, materials, supplies and equipment in accordance with the terms, conditions, and specifications set forth within this solicitation.

Vendors must be fully capable of performing the required services while adhering to all laws, specifications, procedures, protocols, applicable guidance, and industry best practices.

Background

Location: Alachua County is located in North Central Florida. The County government seat is situated in Gainesville. Gainesville is located 70 miles southwest of Jacksonville, 129 miles southeast of Tallahassee, 140 miles northeast of Tampa - St. Petersburg and 109 miles northwest of Orlando. Alachua County has a population of over 250,000 and a regional airport. The County itself consists of a total area of 969 square miles.

Form of Government: Alachua County is governed by a Board of five (5) elected County Commissioners and operates under the established County Manager Charter form of government. In addition to the five County Commissioners, there are five elected Constitutional Officers: Supervisor of Elections, Sheriff, Clerk of the Court, Tax Collector, and the Property Appraiser. The Alachua County Attorney also reports to the Board.

Contact Information

Theodore White

Procurement Agent II, CPPB Email: twhite@alachuacounty.us

Phone: (352) 384-3091

Department: Public Works

Timeline

OpenGov Project Release Date	July 27, 2022
Question Submission Deadline	August 21, 2022, 12:00am
Product and Services E-Submission Deadline	August 31, 2022, 2:00pm

Solicitation Opening – Zoom Meeting

August 31, 2022, 2:00pm

The scheduled solicitation opening will occur via Zoom; the information to join is provided below. Attendance (live viewing) of the bid opening is not required.

Join Zoom Meeting

https://zoom.us/j/93437702771?pwd=S2QxMV pUTG5xQUtBTEVMbkRxakNEZz09

Meeting ID: 934 3770 2771

Passcode: 702897 One tap mobile

+13126266799,,93437702771# US (Chicago) +19292056099,,93437702771# US (New York)

Dial by your location

+1 312 626 6799 US (Chicago)

+1 929 205 6099 US (New York)

+1 301 715 8592 US (Germantown)

+1 346 248 7799 US (Houston)

+1 669 900 6833 US (San Jose)

+1 253 215 8782 US (Tacoma)

Meeting ID: 934 3770 2771

Find your local number:

https://zoom.us/u/adtsfJybhW

If you have a disability and need an accommodation in order to participate in a County program, service or public meeting, please contact the Alachua County ADA Coordinator at ADA@alachuacounty.us or Equal Opportunity Office at 352-374-5275 at least 7 business days prior to the event. TDD/TTY users, please call 711 (Florida Relay Service)

SOLICITATION STATUS HISTORY

Date	Changed To	Changed By	
Jun 28, 2022 10:47 PM	Draft	Theodore White	

Date	Changed To	Changed By
Jun 28, 2022 11:39 PM	Review	Theodore White
Jul 25, 2022 3:15 PM	Final	Theodore White
Jul 25, 2022 3:15 PM	Post Pending	Theodore White
Jul 27, 2022 10:30 AM	Open	OpenGov Bot
Aug 31, 2022 2:00 PM	Pending	OpenGov Bot
Sep 6, 2022 10:25 AM	Evaluation	Theodore White

PROPOSALS RECEIVED

Status	Vendor	Contact Info	Submission Date
Submitted	LIGHTLE ENTERPRISES OF OHIO LLC	Chase Winegar cwinegar@lightleenterprises.com	Aug 30, 2022 2:51 PM
No Bid	Network Craze	Michael Featherstone mfeatherstone@networkcraze.com	Aug 1, 2022 7:28 AM
Submitted	Traffic Supplies & Distribution	Martin Warner mwarner@tsdist.com (321) 332-1341	Aug 30, 2022 10:55 AM
Submitted	Vulcan Signs	Lisa Thibaut vulcan3@vulcaninc.com (800) 633-6845	Aug 9, 2022 12:48 PM

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	LIGHTLE ENTERPRISES OF OHIO LLC	Network Craze	Traffic Supplies & Distribution	Vulcan Signs
Submittal Confirmation	Pass	No Response	Pass	Pass
Corporate Resolution Granting Signing	Pass	No Response	Pass	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	No Response	No Response	No Response	No Response

Annual Purchase of Sign Material

Question Title	LIGHTLE ENTERPRISES OF OHIO LLC	Network Craze	Traffic Supplies & Distribution	Vulcan Signs
Option 1: Company is an Alachua County Certified Small Business Enterprise.	Pass	No Response	Pass	Pass
Option 2: I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.	Pass	No Response	Pass	Pass
Option 3: SBE Participation.	Pass	No Response	Pass	Pass
Option 4: SBE Good Faith Effort.	Pass	No Response	Pass	Pass
Alachua County Government Minimum Wage (GMW)	Pass	No Response	Pass	Pass
DRUG FREE WORKPLACE	Pass	No Response	Pass	Pass
Vendor Eligibility	Pass	No Response	Pass	Pass
Responsible Agent	Pass	No Response	Pass	Pass
Number of years in this type of service?	Pass	No Response	Pass	Pass
Number of years licensed in Alachua County?	Pass	No Response	Pass	Pass
How many employees "ON THE JOB" each week?	Pass	No Response	Pass	Pass
Number of employees "ON CALL" each week?	Pass	No Response	Pass	Pass
Major Equipment	Pass	No Response	Pass	Pass
Do you currently hold any municipality contracts?	Pass	No Response	Pass	Pass
If you indicated yes to holding municipality contracts please list them below:	Pass	No Response	Pass	Pass
References	Pass	No Response	Pass	Pass
Are your employees screened by:	Pass	No Response	Pass	Pass
Cancelled or Termination	Pass	No Response	Pass	Pass
Cancellation and Termination	Pass	No Response	No Response	No Response
What constitutes your normal business days and working hours?	Pass	No Response	Pass	Pass
Describe below, your firm's operational plan for providing the services under this agreement?	Pass	No Response	Pass	Pass

Question Title	LIGHTLE ENTERPRISES OF OHIO LLC	Network Craze	Traffic Supplies & Distribution	Vulcan Signs
Did you review and complete all the required documents and attachments?	Pass	No Response	Pass	Pass
Do you acknowledge all Addendum(s) issued with this solicitation?	Pass	No Response	Pass	Pass
Conflict of Interest	Pass	No Response	Pass	Pass

QUESTIONS AND ANSWERS

1. Pricing Question - Flake Stake Post

Aug 19, 2022 3:03 PM

Question:

Do they have reflective striping? If yes, what color and size of reflective stripe on the post.

Aug 19, 2022 2:57 PM

Answered by Theodore White:

No, flex stake post do not require reflective striping.

Aug 19, 2022 3:03 PM

ADDENDA & NOTICES

ADDENDA ISSUED:

Addendum #1

Aug 19, 2022 2:48 PM

Alachua County is extending the ITB one(1) week for Pricing clarification.

Please use the See What Changed link to view all the changes made by this addendum.

ADDENDA ACKNOWLEDGEMENTS:

Addendum #1

Proposal	Confirmed	Confirmed At	Confirmed By
Vulcan Signs	х	Aug 22, 2022 8:14 AM	Lisa Thibaut
Traffic Supplies & Distribution	х	Aug 30, 2022 10:34 AM	Martin Warner
LIGHTLE ENTERPRISES OF OHIO LLC	Х	Aug 30, 2022 8:10 AM	Chase Winegar

NOTICES ISSUED:

No Notices issued.

EVALUATION

LIGHTLE ENTERPRISES OF OHIO LLC - FRANKFORT, OH

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE REFLECTIVE (DG3) 4000 SERIES, PS, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	ALL WAY, 18 X 6 R1-3P	5	ea	\$2.84	\$14.20
2	Backup	ADVISORY SPEED PLATE (NO SPEED), 18 X 18, W13-1	20	ea	\$8.52	\$170.40
3	Backup	ADVISORY SPEED PLATE 15 MPH, 18 X 18, W13-1	35	ea	\$8.52	\$298.20
4	Backup	ADVISORY SPEED PLATE 20 MPH, 18 X 18, W13-1	15	ea	\$8.52	\$127.80
5	Backup	ADVISORY SPEED PLATE 25 MPH, 18 X 18, W13-1	20	ea	\$8.52	\$170.40
6	Backup	ADVISORY SPEED PLATE 30 MPH, 18 X 18, W13-1	20	ea	\$8.52	\$170.40
7	Backup	ADVISORY SPEED PLATE 35 MPH, 18 X 18, W13-1	35	ea	\$8.52	\$298.20
8	Backup	ADVISORY SPEED PLATE 40 MPH, 18 X 18, W13-1	20	ea	\$8.52	\$170.40
9	Backup	ADVISORY SPEED PLATE 45 MPH, 18 X 18, W13-1	35	ea	\$8.52	\$298.20
10	Primary	AIRPORT SYMBOL, 24 X 24, I-5	5	ea	\$15.15	\$75.75
11	Primary	ALACHUA COUNTY ROUTE MARKER, 24, M1-6	75	ea	\$18.00	\$1,350.00
12	Primary	ALACHUA COUNTY ROUTE MARKER, 36, M1-6	75	ea	\$39.00	\$2,925.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
13	Backup	BEGIN RIGHT TURN LANE YIELD TO BIKES, 36 X 30, R4-4	5	ea	\$28.41	\$142.05
14	Backup	BICYCLE LANE DESIGNATION , 30 x 24, R3-17	5	ea	\$18.94	\$94.70
15	Backup	CATTLE CROSSING SYMBOL, 30 x 30 , W11- 4	5	ea	\$23.67	\$118.35
16	Backup	CROSS ROAD SYMBOL, 30 x 30, W2-1	25	ea	\$23.67	\$591.75
17	Backup	DEAD END, 24 x 24. W14-1	20	ea	\$15.15	\$303.00
18	Backup	DEAD END, 36 X 8, W14- 1AR	35	ea	\$7.58	\$265.30
19	Backup	DEAD END, 36 X 8, W14- 1AL	35	ea	\$7.58	\$265.30
20	Backup	DIRECTION GUIDANCE MARKER, CHEVRON, 18 X 24M, W1-8	50	ea	\$11.36	\$568.00
21	Backup	DIVIDED HIGHWAY SYMBOL, 24 X 18, R6-3	10	ea	\$11.36	\$113.60
22	Backup	DO NOT BLOCK INTERSECTION, 24 X 30, R10-7	5	ea	\$18.94	\$94.70
23	Backup	DO NOT ENTER, 30 X 30, R5-1	15	ea	\$23.67	\$355.05
24	Backup	DOWNWARD POINTING ARROW (AT CROSSING), 24 X 12, W16-7P	25	ea	\$7.58	\$189.50
25	Backup	DUCK CROSSING SYMBOL, 30 X 30, W11- 12	5	ea	\$23.67	\$118.35
26	Backup	END SCHOOL ZONE, 24 X 30, S5-2	20	ea	\$18.94	\$378.80

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
27	Backup	EQUESTRIAN (SYMBOL), 30 X 30, W11-7	10	ea	\$23.67	\$236.70
28	Backup	FIRE STATION, 30 X 30, W11-8	20	ea	\$23.67	\$473.40
29	Backup	FLORIDA ROUTE MARKER, 24 X 24, FTP- 28	20	ea	\$15.15	\$303.00
30	Backup	FLORIDA ROUTE MARKER, 30 X 24, FTP- 28	25	ea	\$18.94	\$473.50
31	Backup	FUTURE THRU STREET (black on white), 24 X 30,	20	ea	\$18.94	\$378.80
32	Backup	GOLF CART CROSSING (SYMBOL), 36 X 36, FTP- 39	5	ea	\$34.09	\$170.45
33	Primary	INTERSTATE SHIELD 75, 24, M1-1	5	ea	\$17.00	\$85.00
34	Backup	JCT, 21 X 15, M2-1	25	ea	\$8.29	\$207.25
35	Backup	KEEP RIGHT SYMBOL, 24 X 30, R4-7	5	ea	\$18.94	\$94.70
36	Backup	KEEP RIGHT, WITH NO ARROW, 24 X 30, R4-7A	5	ea	\$18.94	\$94.70
37	Backup	LARGE ARROW, 48 X 24, W1-6	5	ea	\$30.30	\$151.50
38	Backup	LARGE DOUBLE ARROW, 48 X 24, W1-7	10	ea	\$30.30	\$303.00
39	Backup	LEFT CURVE, 30 X 30, W1-2L	25	ea	\$23.67	\$591.75
40	Backup	LEFT LANE MUST TURN LEFT, 30 X 30, R3-7L	5	ea	\$23.67	\$118.35
41	Backup	LEFT REVERSE CURVE, 30 X 30, W1-4L	10	ea	\$23.67	\$236.70

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
42	Backup	LEFT REVERSE TURN, 30 X 30, W1-3L	10	ea	\$23.67	\$236.70
43	Backup	LEFT SIDE BRIDGE END MARKER, 12 X 36, OM- 3L	35	ea	\$11.36	\$397.60
44	Backup	LEFT TURN, 30 X 30, W1-1L	20	ea	\$23.67	\$473.40
45	Backup	LEFT WINDING ROAD, 30 X 30, W1-5L	10	ea	\$23.67	\$236.70
46	Backup	LENS, BLACK, WHITE, BLACK BORDER, 30 X 30, R5-5B	20	ea	\$23.67	\$473.40
47	Backup	LENS, BLACK, WHITE, BLACK BORDER X, 24 X 30, R11-11	25	ea	\$18.94	\$473.50
48	Backup	LENS, BLUE / YELLOW, 21 X 15, M6-1	25	ea	\$8.29	\$207.25
49	Backup	LENS, WHITE, BLACK BORDER, 24 X 24, R5-5B	10	ea	\$1 5.15	\$151.50
50	Backup	LENS, YELLOW, BLACK BORDER, 24 X 24, W41-1	15	ea	\$15.15	\$227.25
51	Backup	LENS, YELLOW, BLACK BORDER, 30 X 30 , W41- 1	50	ea	\$23.67	\$1,183.50
52	Backup	LIMITED SIGHT DISTANCE, 30 X 30, W14-4	15	ea	\$23.67	\$355.05
53	Backup	LOW VEHICLE MAY DRAG ON RR TRACKS (SYMBOL), 36 X 36 , FTP- 40	5	ea	\$34.09	\$170.45
54	Backup	NARROW BRIDGE SYMBOL, 30 X 30, W5- 2A	20	ea	\$23.67	\$473.40

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
55	Backup	NO "U" TURN SYMBOL, 30 X 30, R3-4	5	ea	\$23.67	\$118.35
56	Backup	NO DUMPING, 18 X 24, R10-11	20	ea	\$11.36	\$227.20
57	Backup	NO LEFT TURN SYMBOL, 24 X 24 , R3-2	5	ea	\$15.15	\$75.75
58	Backup	NO OUTLET, 24 X 24, W14-2	35	ea	\$15.15	\$530.25
59	Backup	NO OUTLET, 36 X 8, W14-2AR	35	ea	\$7.58	\$265.30
60	Backup	NO OUTLET, 36 X 8, W14-2AL	35	ea	\$7.58	\$265.30
61	Backup	NO PARKING ANYTIME, 18 X 24 , R7-1	35	ea	\$11.36	\$397.60
62	Backup	NO PARKING HERE TO CORNER, 18 X 24, R7-11	25	ea	\$11.36	\$284.00
63	Backup	NO RIGHT TURN SYMBOL, 24 X 24, R3-16	5	ea	\$15.15	\$75.75
64	Backup	NO TRUCKS SYMBOL, 24 X 24, R5-2	10	ea	\$15.15	\$151.50
65	Backup	ONE WAY LEFT, 18 X 24, R6-2L	10	ea	\$11.36	\$113.60
66	Backup	ONE WAY LEFT, 36 X 12, R6-1L	5	ea	\$11.36	\$56.80
67	Backup	ONE WAY RIGHT, 36 X 12, R6-1R	5	ea	\$11.36	\$56.80
68	Backup	ONE WAY RIGHT, 18 X 24, R6-1R	5	ea	\$11.36	\$56.80
69	Backup	PARKING BY DISABLED PERMIT ONLY, 12 X 18, R7-8-FL	25	ea	\$5.68	\$142.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
70	Backup	PAVEMENT ENDS SYMBOL, 30 X 30, W8- 3A	5	ea	\$23.67	\$118.35
71	Backup	PLAYGROUND SYMBOL, 36 X 36, W15-1	5	ea	\$34.09	\$170.45
72	Backup	PREFERENTIAL BIKE LANE (ENDS), 30 X 12, R3-17b	10	ea	\$9.47	\$94.70
73	Backup	RAILROAD ADVANCED WARNING, 30, W10-1	10	ea	\$23.67	\$236.70
74	Backup	RAILROAD ADVANCED WARNING (CROSSROAD), 30 X 30, W10-2	10	ea	\$23.67	\$236.70
75	Backup	RAILROAD ADVANCED WARNING (SIDEROAD), 30 X 30 , W10-3	10	ea	\$23.67	\$236.70
76	Backup	SPEED REDUCTION AHEAD (NO NUMBERS IN TEXT), 36 X 36, W3-5	50	ea	\$44.00	\$2,200.00
77	Backup	RESERVED PARKING HANDICAP, 12 X 18, R7- 8-FL	25	ea	\$5.68	\$142.00
78	Backup	RIGHT CURVE, 30 X 30, W1-2R	35	ea	\$23.67	\$828.45
79	Backup	RIGHT LANE MUST TURN RIGHT, 30 X 30, R3-7R	5	ea	\$23.67	\$118.35
80	Backup	RIGHT REVERSE CURVE, 30 X 30, W1-4R	5	ea	\$23.67	\$118.35
81	Backup	RIGHT REVERSE TURN, 30 X 30, W1-3R	5	ea	\$23.67	\$118.35
82	Backup	RIGHT SIDE BRIDGE END MARKER, 12 X 36, OM- 3R	50	ea	\$11.36	\$568.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
83	Backup	RIGHT TURN, 30 X 30, W1-1R	10	ea	\$23.67	\$236.70
84	Backup	RIGHT WINDING ROAD, 30 X 30, W1-5R	10	ea	\$23.67	\$236.70
85	Backup	ROAD CLOSED , 48 X 30 , R11-2	10	ea	\$37.88	\$378.80
86	Backup	ROAD NARROWS, 30 X 30, W5-1	10	ea	\$23.67	\$236.70
87	Primary	SCHOOL SPEED LIMIT (NO NUMBERS IN TEXT WHEN FLASHING), 24 X 48, S5-1	5	ea	\$30.30	\$151.50
88	Backup	SIDE ROAD SYMBOL, 30 X 30, W2-2	50	ea	\$23.67	\$1,183.50
89	Primary	SIGNAL AHEAD SYMBOL, 30 X 30, W2-3	15	ea	\$23.67	\$355.05
90	Backup	SLIPPERY WHEN WET, 30 X 30, W8-5	10	ea	\$23.67	\$236.70
91	Backup	SPEED LIMIT 20 MPH, 24 X 30, R2-1	10	ea	\$18.94	\$189.40
92	Backup	SPEED LIMIT 25 MPH, 24 X 30, R2-1	35	ea	\$18.94	\$662.90
93	Backup	SPEED LIMIT 30 MPH, 24 X 30, R2-1	75	ea	\$18.94	\$1,420.50
94	Backup	SPEED LIMIT 35 MPH, 24 X 30, R2-1	25	ea	\$18.94	\$473.50
95	Backup	SPEED LIMIT 40 MPH, 24 X 30, R2-1	35	ea	\$18.94	\$662.90
96	Backup	SPEED LIMIT 45 MPH, 24 X 30, R2-1	35	ea	\$18.94	\$662.90
97	Backup	SPEED LIMIT 50 MPH, 24 X 30, R2-1	5	ea	\$18.94	\$94.70

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
99	Backup	SPEED LIMIT 55 MPH, 24 X 30, R2-1	50	ea	\$18.94	\$947.00
100	Backup	SPEED LIMIT BLANK (NO SPEED), 24 X 30, R2-1	25	ea	\$18.90	\$472.50
101	Backup	STOP, 18 X 18, R1-1	10	ea	\$8.00	\$80.00
102	Backup	STOP, 24 X 24, R1-1	75	ea	\$15.00	\$1,125.00
103	Backup	STOP, 30 X 30, R1-1	100	ea	\$23.00	\$2,300.00
104	Backup	STOP. 36 X 36, R1-1	20	ea	\$34.00	\$680.00
105	Primary	STOP AHEAD SYMBOL, 30 X 30, W3-1A	50	ea	\$23.60	\$1,180.00
106	Backup	STOP HERE ON RED, 24 X 36 , R10-6	5	ea	\$22.70	\$113.50
107	Backup	US ROUTE MARKER (NO NUMBERS), 24 X 24, M1-4	10	ea	\$22.00	\$220.00
108	Backup	WEIGHT LIMIT (NO NUMBERS IN TEXT) TONS PER AXLE, TONS GROSS, 36 X 24, R12-4	5	ea	\$22.73	\$113.65
109	Backup	WEIGHT LIMIT TON, 24 X 30, R12-1	10	ea	\$18.94	\$189.40
110	Backup	YIELD, 36 X 36 X 36 , R1- 2	35	ea	\$17.00	\$595.00

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE FLUORESCENT (DG3) YELLOW-GREEN, 4083, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	BICYCLE SYMBOL , 30 X 30, W11-1	10	ea	\$23.67	\$236.70
2	Backup	BUS STOP SYMBOL VIP, 36 X 36 , S3-1	10	ea	\$34.00	\$340.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
3	Backup	DOWNWARD POINTING ARROW, 24 X 12, W16- 7P	10	ea	\$7.58	\$75.80
4	Primary	IN STREET PEDESTRIAN CROSSING (YIELD) / STOP , 12 X 36, R1—6/a	10	ea	\$14.00	\$140.00
5	Backup	LENS WITH BLACK BORDER, 30 X 30, W41-1	25	ea	\$23.67	\$591.75
6	Backup	PEDESTRIAN SYMBOL, 30 X 30, W11-2	10	ea	\$23.67	\$236.70
7	Backup	SCHOOL (AHEAD), 24 X 12, W16-9p	20	ea	\$8.00	\$160.00
8	Backup	SCHOOL ADVANCED , 30 X 30, S1-1	15	ea	\$23.67	\$355.05
9	Backup	SCHOOL ADVANCED , 36 X 36, S1-1	10	ea	\$34.09	\$340.90

ELECTRO FILM (EC FILM): 3M BRAND, TRANSPARENT, ACRYLIC, PS, NO PUNCHINGS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	BLUE, 36 X 50 , 1175	2	ea	\$536.00	\$1,072.00
2	Backup	BLUE, 48 x 50, 1175	1	ea	\$716.00	\$716.00
3	Backup	BROWN, 36 X 50 , 1179	2	ea	\$536.00	\$1,072.00
4	Backup	BROWN, 48 X 50, 1179	1	ea	\$716.00	\$716.00
5	Backup	GREEN, 36 X 50, 1177	10	ea	\$536.00	\$5,360.00
6	Backup	GREEN, 48 X 50, 1177	2	ea	\$716.00	\$1,432.00
7	Backup	RED, 36 X 50, 1172	2	ea	\$536.00	\$1,072.00
8	Backup	RED, 48 X 50, 1172	2	ea	\$716.00	\$1,432.00

3M BRAND PRESPACING TRANSFER TAPE: SCPS-2, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
5	Primary	PRESPACING TRANSFER TAPE, 18 X 100, SCPS-2	5	ea	\$150.00	\$750.00

ROLL GOODS: 3M BRAND, "NO SUB", CONSPICUITY TAPE, DIAMOND GRADE, REFLECTIVE, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
2	Backup	WHITE, 8 X 50, 4090	10	ea	\$294.00	\$2,940.00
3	Backup	WHITE , 24 X 50, 4090	5	ea	\$870.00	\$4,350.00
4	Backup	WHITE , 30 X 50 , 4090	8	ea	\$1,089.00	\$8,712.00
5	Backup	WHITE, 36 X 50, 4090	3	ea	\$1,307.00	\$3,921.00
6	Backup	YELLOW, 18 X 50, 4092	1	ea	\$653.00	\$653.00
7	Backup	YELLOW. 24 X 50, 4092	3	ea	\$870.00	\$2,610.00
8	Backup	YELLOW, 30 X 50, 4092	3	ea	\$1,089.00	\$3,267.00
9	Backup	YELLOW, 36 X 50, 4092	2	ea	\$1,307.00	\$2,614.00
10	Backup	RED, 18 X 50, 4092	2	ea	\$653.00	\$1,306.00
12	Backup	FLUORESCENT YELLOW- GREEN, 24 X 50, 4083	1	ea	\$870.00	\$870.00
13	Backup	FLUORESCENT YELLOW- GREEN, 30 X 50, 4083	1	ea	\$1,089.00	\$1,089.00
14	Backup	FLUORESCENT YELLOW- GREEN, 36 X 50, 4083	1	ea	\$1,300.00	\$1,300.00

ALUMINUM POP-RIVETS, FLEXSTAKE & SHURTITE BRAND DELINEATOR POSTS, GALVANIZED CHANNEL IRON POSTS, GALVANIZED SQUARE TUBING, GUARD RAIL REFLECTORS, PYRAMID CAPS, PANELS, BARRICADE SHEETING

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
10	Primary	3" DIAMETER MOUNTED CRYSTAL GUARDRAIL REFLECTORS/WINGED- PLASTIC, CLEAR/WHITE, GR-1C	500	ea	\$1,20	\$600.00

Traffic Supplies & Distribution - Fort Pierce, FL

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE REFLECTIVE (DG3) 4000 SERIES, PS, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
10	Backup	AIRPORT SYMBOL, 24 X 24, I-5	5	ea	\$18.75	\$93.75

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE FLUORESCENT (DG3) YELLOW-GREEN, 4083, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
4	Backup	IN STREET PEDESTRIAN CROSSING (YIELD) / STOP , 12 X 36, R1—6/a	10	ea	\$24.99	\$249.90

EPOXY RESIN, PAINT SUPPLIES, PAINT, FLUORESCENT TRAFFIC CONES WITH REFLECTIVE 4"/6" COLLARS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	EPOXY RESIN ADHESIVE, PARTS A & B (SETS), 1 GAL CAN	10	ea	\$94.00	\$940.00
2	Primary	DROP ON TYPE, SPHERICAL REFLECTIVE, GLASS BEADS, 50 LB BAGS	25	ea	\$30.00	\$750.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
3	Primary	PAINT, TRAFFIC ACRYLIC WATER BASE, FAST DRY, WHITE, FL DOT APPROVED. NO LEAD 12470-4, 5 GAL	20	ea	\$93.00	\$1,860.00
4	Primary	PAINT, TRAFFIC ACRYLIC WATER BASE, FAST DRY, YELLOW, FL DOT APPROVED. NO LEAD 13109-2, 5 GAL	5	ea	\$93.00	\$465.00
5	Primary	TRAFFIC CONES, 100 % (PVC) ORANGE FLUORESCENT, FDOT, WIDE BASE, , , 12 LBS. WITH A 4 INCH AND A 6 INCH DIAMOND GRADE REFLECTIVE COLLARS (AFFIXED), 36 IN HEIGHT	200	ea	\$26.50	\$5,300.00

3M BRAND PRESPACING TRANSFER TAPE: SCPS-2, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	PRESPACING TRANSFER TAPE, 4 X 100, SCPS-2	20	ea	\$34.50	\$690.00
2	Backup	PRESPACING TRANSFER TAPE, 6 X 100, SCPS-2	25	ea	\$51.00	\$1,275.00
3	Backup	PRESPACING TRANSFER TAPE, 8 X 100, SCPS-2	30	ea	\$67.50	\$2,025.00
4	Backup	PRESPACING TRANSFER TAPE, 12 X 100, SCPS-2	10	ea	\$102.00	\$1,020.00
5	Backup	PRESPACING TRANSFER TAPE, 18 X 100, SCPS-2	5	ea	\$153.00	\$765.00

ROLL GOODS SHEETING: 3M BRAND, 'NO SUB', ELECTROCUT FILM 7725-12, PS, NO HOLE PUNCHINGS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	BLACK, 36 X 50, 7725-12	6	ea	\$693.00	\$4,158.00
2	Backup	BLACK, 48 X 50 , 7725- 12	6	ea	\$918.00	\$5,508.00

ROLL GOODS: 3M BRAND, "NO SUB", CONSPICUITY TAPE, DIAMOND GRADE, REFLECTIVE, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	RED / WHITE, 2 W X 150, 32ES	5	ea	\$83.66	\$418.30
11	Backup	FLUORESCENT ORANGE, 48 X 50, 4084	1	еа	\$2,436.00	\$2,436.00

ALUMINUM POP-RIVETS, FLEXSTAKE & SHURTITE BRAND DELINEATOR POSTS, GALVANIZED CHANNEL IRON POSTS, GALVANIZED SQUARE TUBING, GUARD RAIL REFLECTORS, PYRAMID CAPS, PANELS, BARRICADE SHEETING

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	BLIND ALUMINUM POP RIVETS, 3/16" x 3/8" GRIP RANGE, #66, MALE SMALL HEAD, 3/16 X 1/2 (Grip Range)	5000	ea	\$0.09	\$450.00
2	Primary	DELINEATOR POST, GROUND MOUNT, WHITE, FLEXSTAKE BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$26.00	\$650.00
3	Primary	DELINEATOR POST, GROUND MOUNT, YELLOW, FLEXSTAKE BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$26.00	\$650.00

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
4	Primary	DELINEATOR POST, SURFACE MOUNT WITH BASE, WHITE, FLEXSTAKE BRAND, HD, NO SUB, 4 FT HIGH	25	еа	\$26.00	\$650.00
5	Primary	DELINEATOR POST, SURFACE MOUNT WITH BASE, YELLOW, FLEXSTAKE BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$26.00	\$650.00
6	Primary	DELINEATOR POST, GROUND MOUNT, WHITE, SHUR-TITE SHUR-FLEX BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$41.00	\$1,025.00
7	Primary	DELINEATOR POST, GROUND MOUNT, YELLOW, SHUR-TITE SHUR-FLEX BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$41.00	\$1,025.00
8	Primary	DELINEATOR POST, SURFACE MOUNT WITH BASE, WHITE, SHUR-TITE SHUR-FLEX BRAND, HD, NO SUB. 4 FT HIGH	25	ea	\$40.00	\$1,000.00
9	Primary	DELINEATOR POST, SURFACE MOUNT WITH BASE, YELLOW, SHUR- TITE SHUR-FLEX BRAND, HD, NO SUB, 4 FT HIGH	25	ea	\$40.00	\$1,000.00
10	Backup	3" DIAMETER MOUNTED CRYSTAL GUARDRAIL REFLECTORS/WINGED- PLASTIC, CLEAR/WHITE, GR-1C	500	ea	\$2.89	\$1,445.00

Vulcan Signs - Foley, AL

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE REFLECTIVE (DG3) 4000 SERIES, PS, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	ALL WAY, 18 X 6 R1-3P	5	ea	\$2.44	\$12.20
2	Primary	ADVISORY SPEED PLATE (NO SPEED), 18 X 18, W13-1	20	ea	\$7.33	\$146.60
3	Primary	ADVISORY SPEED PLATE 15 MPH, 18 X 18, W13-1	35	ea	\$7.33	\$256.55
4	Primary	ADVISORY SPEED PLATE 20 MPH, 18 X 18, W13-1	15	ea	\$7.33	\$109.95
5	Primary	ADVISORY SPEED PLATE 25 MPH, 18 X 18, W13-1	20	ea	\$7.33	\$146.60
6	Primary	ADVISORY SPEED PLATE 30 MPH, 18 X 18, W13-1	20	ea	\$7.33	\$146.60
7	Primary	ADVISORY SPEED PLATE 35 MPH, 18 X 18, W13-1	35	ea	\$7.33	\$256.55
8	Primary	ADVISORY SPEED PLATE 40 MPH, 18 X 18, W13-1	20	ea	\$7.33	\$146.60
9	Primary	ADVISORY SPEED PLATE 45 MPH, 18 X 18, W13-1	35	ea	\$7.33	\$256.55
11	Backup	ALACHUA COUNTY ROUTE MARKER, 24, M1-6	75	ea	\$26.20	\$1,965.00
12	Backup	ALACHUA COUNTY ROUTE MARKER, 36, M1-6	75	ea	\$58.95	\$4,421.25
13	Primary	BEGIN RIGHT TURN LANE YIELD TO BIKES, 36 X 30, R4-4	5	ea	\$24.45	\$122.25
14	Primary	BICYCLE LANE DESIGNATION , 30 x 24, R3-17	5	ea	\$16.30	\$81.50
15	Primary	CATTLE CROSSING SYMBOL, 30 x 30 , W11- 4	5	ea	\$20.37	\$101.85

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
16	Primary	CROSS ROAD SYMBOL, 30 x 30, W2-1	25	ea	\$20.37	\$509.25
17	Primary	DEAD END, 24 x 24. W14-1	20	ea	\$13.04	\$260.80
18	Primary	DEAD END, 36 X 8, W14- 1AR	35	ea	\$6.52	\$228.20
19	Primary	DEAD END, 36 X 8, W14- 1AL	35	ea	\$6.52	\$228.20
20	Primary	DIRECTION GUIDANCE MARKER, CHEVRON, 18 X 24M, W1-8	50	ea	\$9.78	\$489.00
21	Primary	DIVIDED HIGHWAY SYMBOL, 24 X 18, R6-3	10	ea	\$9.78	\$97.80
22	Primary	DO NOT BLOCK INTERSECTION, 24 X 30, R10-7	5	ea	\$16.30	\$81.50
23	Primary	DO NOT ENTER, 30 X 30, R5-1	15	ea	\$20.37	\$305.55
24	Primary	DOWNWARD POINTING ARROW (AT CROSSING), 24 X 12, W16-7P	25	ea	\$6.52	\$163.00
25	Primary	DUCK CROSSING SYMBOL, 30 X 30, W11- 12	5	ea	\$20.37	\$101.85
26	Primary	END SCHOOL ZONE, 24 X 30, S5-2	20	ea	\$16.30	\$326.00
27	Primary	EQUESTRIAN (SYMBOL), 30 X 30, W11-7	10	ea	\$20.37	\$203.70
28	Primary	FIRE STATION, 30 X 30, W11-8	20	ea	\$20.37	\$407.40
29	Primary	FLORIDA ROUTE MARKER, 24 X 24, FTP- 28	20	ea	\$13.04	\$260.80

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
30	Primary	FLORIDA ROUTE MARKER, 30 X 24, FTP- 28	25	ea	\$16.30	\$407.50
31	Primary	FUTURE THRU STREET (black on white), 24 X 30,	20	ea	\$16.30	\$326.00
32	Primary	GOLF CART CROSSING (SYMBOL), 36 X 36, FTP- 39	5	ea	\$29.34	\$146.70
33	Backup	INTERSTATE SHIELD 75, 24, M1-1	5	ea	\$26.20	\$131.00
34	Primary	JCT, 21 X 15, M2-1	25	ea	\$7.10	\$177.50
35	Primary	KEEP RIGHT SYMBOL, 24 X 30, R4-7	5	ea	\$16.30	\$81.50
36	Primary	KEEP RIGHT, WITH NO ARROW, 24 X 30, R4-7A	5	ea	\$16.30	\$81.50
37	Primary	LARGE ARROW, 48 X 24, W1-6	5	ea	\$26.08	\$130.40
38	Primary	LARGE DOUBLE ARROW, 48 X 24, W1-7	10	ea	\$26.08	\$260.80
39	Primary	LEFT CURVE, 30 X 30, W1-2L	25	ea	\$20.37	\$509.25
40	Primary	LEFT LANE MUST TURN LEFT, 30 X 30, R3-7L	5	ea	\$20.37	\$101.85
41	Primary	LEFT REVERSE CURVE, 30 X 30, W1-4L	10	ea	\$20.37	\$203.70
42	Primary	LEFT REVERSE TURN, 30 X 30, W1-3L	10	ea	\$20.37	\$203.70
43	Primary	LEFT SIDE BRIDGE END MARKER, 12 X 36, OM- 3L	35	ea	\$9.78	\$342.30
44	Primary	LEFT TURN, 30 X 30, W1-1L	20	ea	\$20.37	\$407.40

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
45	Primary	LEFT WINDING ROAD, 30 X 30, W1-5L	10	ea	\$20.37	\$203.70
46	Primary	LENS, BLACK, WHITE, BLACK BORDER, 30 X 30, R5-5B	20	ea	\$20.37	\$407.40
47	Primary	LENS, BLACK, WHITE, BLACK BORDER X, 24 X 30, R11-11	25	ea	\$16.30	\$407.50
48	Primary	LENS, BLUE / YELLOW, 21 X 15, M6-1	25	ea	\$7.10	\$177.50
49	Primary	LENS, WHITE, BLACK BORDER, 24 X 24, R5-5B	10	ea	\$13.04	\$130.40
50	Primary	LENS, YELLOW, BLACK BORDER, 24 X 24, W41-1	15	ea	\$13.04	\$195.60
51	Primary	LENS, YELLOW, BLACK BORDER, 30 X 30 , W41- 1	50	ea	\$20.37	\$1,018.50
52	Primary	LIMITED SIGHT DISTANCE, 30 X 30, W14-4	15	ea	\$20.37	\$305.55
53	Primary	LOW VEHICLE MAY DRAG ON RR TRACKS (SYMBOL), 36 X 36 , FTP- 40	5	ea	\$29.34	\$146.70
54	Primary	NARROW BRIDGE SYMBOL, 30 X 30, W5- 2A	20	ea	\$20.37	\$407.40
55	Primary	NO "U" TURN SYMBOL, 30 X 30, R3-4	5	ea	\$20.81	\$104.05
56	Primary	NO DUMPING, 18 X 24, R10-11	20	ea	\$9.78	\$195.60
57	Primary	NO LEFT TURN SYMBOL, 24 X 24 , R3-2	5	ea	\$13.32	\$66.60
58	Primary	NO OUTLET, 24 X 24, W14-2	35	ea	\$13.04	\$456.40

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
59	Primary	NO OUTLET, 36 X 8, W14-2AR	35	ea	\$6.52	\$228.20
60	Primary	NO OUTLET, 36 X 8, W14-2AL	35	ea	\$6.52	\$228.20
61	Primary	NO PARKING ANYTIME, 18 X 24 , R7-1	35	ea	\$9.78	\$342.30
62	Primary	NO PARKING HERE TO CORNER, 18 X 24, R7-11	25	ea	\$9.78	\$244.50
63	Primary	NO RIGHT TURN SYMBOL, 24 X 24, R3-16	5	ea	\$13.32	\$66.60
64	Primary	NO TRUCKS SYMBOL, 24 X 24, R5-2	10	ea	\$13.32	\$133.20
65	Primary	ONE WAY LEFT, 18 X 24, R6-2L	10	ea	\$9.78	\$97.80
66	Primary	ONE WAY LEFT, 36 X 12, R6-1L	5	ea	\$9.78	\$48.90
67	Primary	ONE WAY RIGHT, 36 X 12, R6-1R	5	ea	\$9.78	\$48.90
68	Primary	ONE WAY RIGHT, 18 X 24, R6-1R	5	ea	\$9.78	\$48.90
69	Primary	PARKING BY DISABLED PERMIT ONLY, 12 X 18, R7-8-FL	25	ea	\$4.99	\$124.75
70	Primary	PAVEMENT ENDS SYMBOL, 30 X 30, W8- 3A	5	ea	\$20.37	\$101.85
71	Primary	PLAYGROUND SYMBOL, 36 X 36, W15-1	5	ea	\$29.34	\$146.70
72	Primary	PREFERENTIAL BIKE LANE (ENDS), 30 X 12, R3-17b	10	ea	\$8.15	\$81.50
73	Primary	RAILROAD ADVANCED WARNING, 30, W10-1	10	ea	\$20.37	\$203.70

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
74	Primary	RAILROAD ADVANCED WARNING (CROSSROAD), 30 X 30, W10-2	10	ea	\$20.37	\$203.70
75	Primary	RAILROAD ADVANCED WARNING (SIDEROAD), 30 X 30 , W10-3	10	ea	\$20.37	\$203.70
76	Primary	SPEED REDUCTION AHEAD (NO NUMBERS IN TEXT), 36 X 36, W3-5	50	ea	\$29.97	\$1,498.50
77	Primary	RESERVED PARKING HANDICAP, 12 X 18, R7- 8-FL	25	ea	\$4.99	\$124.75
78	Primary	RIGHT CURVE, 30 X 30, W1-2R	35	ea	\$20.37	\$712.95
79	Primary	RIGHT LANE MUST TURN RIGHT, 30 X 30, R3-7R	5	ea	\$20.37	\$101.85
80	Primary	RIGHT REVERSE CURVE, 30 X 30, W1-4R	5	ea	\$20.37	\$101.85
81	Primary	RIGHT REVERSE TURN, 30 X 30, W1-3R	5	ea	\$20.37	\$101.85
82	Primary	RIGHT SIDE BRIDGE END MARKER, 12 X 36, OM- 3R	50	ea	\$9.78	\$489.00
83	Primary	RIGHT TURN, 30 X 30, W1-1R	10	ea	\$20.37	\$203.70
84	Primary	RIGHT WINDING ROAD, 30 X 30, W1-5R	10	ea	\$20.37	\$203.70
85	Primary	ROAD CLOSED , 48 X 30 , R11-2	10	ea	\$32.60	\$326.00
86	Primary	ROAD NARROWS, 30 X 30, W5-1	10	ea	\$20.37	\$203.70
88	Primary	SIDE ROAD SYMBOL, 30 X 30, W2-2	50	ea	\$20.37	\$1,018.50

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
90	Primary	SLIPPERY WHEN WET, 30 X 30, W8-5	10	ea	\$20.37	\$203.70
91	Primary	SPEED LIMIT 20 MPH, 24 X 30, R2-1	10	ea	\$16.30	\$163.00
92	Primary	SPEED LIMIT 25 MPH, 24 X 30, R2-1	35	ea	\$16.30	\$570.50
93	Primary	SPEED LIMIT 30 MPH, 24 X 30, R2-1	75	ea	\$16.30	\$1,222.50
94	Primary	SPEED LIMIT 35 MPH, 24 X 30, R2-1	25	ea	\$16.30	\$407.50
95	Primary	SPEED LIMIT 40 MPH, 24 X 30, R2-1	35	ea	\$16.30	\$570.50
96	Primary	SPEED LIMIT 45 MPH, 24 X 30, R2-1	35	ea	\$16.30	\$570.50
97	Primary	SPEED LIMIT 50 MPH, 24 X 30, R2-1	5	ea	\$16.30	\$81.50
99	Primary	SPEED LIMIT 55 MPH, 24 X 30, R2-1	50	ea	\$16.30	\$815.00
100	Primary	SPEED LIMIT BLANK (NO SPEED), 24 X 30, R2-1	25	ea	\$16.30	\$407.50
101	Primary	STOP, 18 X 18, R1-1	10	ea	\$7.33	\$73.30
102	Primary	STOP, 24 X 24, R1-1	75	ea	\$13.04	\$978.00
103	Primary	STOP, 30 X 30, R1-1	100	ea	\$20.37	\$2,037.00
104	Primary	STOP. 36 X 36, R1-1	20	ea	\$29.34	\$586.80
105	Backup	STOP AHEAD SYMBOL, 30 X 30, W3-1A	50	ea	\$25.31	\$1,265.50
106	Primary	STOP HERE ON RED, 24 X 36 , R10-6	5	ea	\$19.56	\$97.80
107	Primary	US ROUTE MARKER (NO NUMBERS), 24 X 24, M1-4	10	ea	\$13.04	\$130.40

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
108	Primary	WEIGHT LIMIT (NO NUMBERS IN TEXT) TONS PER AXLE, TONS GROSS, 36 X 24, R12-4	5	ea	\$19.56	\$97.80
109	Primary	WEIGHT LIMIT TON, 24 X 30, R12-1	10	ea	\$16.30	\$163.00
110	Primary	YIELD, 36 X 36 X 36 , R1- 2	35	ea	\$13.08	\$457.80

TRAFFIC SIGN FACES: 3M BRAND, DIAMOND GRADE FLUORESCENT (DG3) YELLOW-GREEN, 4083, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	BICYCLE SYMBOL , 30 X 30, W11-1	10	ea	\$20.37	\$203.70
2	Primary	BUS STOP SYMBOL VIP, 36 X 36 , S3-1	10	ea	\$29.97	\$299.70
3	Primary	DOWNWARD POINTING ARROW, 24 X 12, W16- 7P	10	ea	\$6.52	\$65.20
5	Primary	LENS WITH BLACK BORDER, 30 X 30, W41-1	25	ea	\$20.37	\$509.25
6	Primary	PEDESTRIAN SYMBOL, 30 X 30, W11-2	10	ea	\$20.37	\$203.70
7	Primary	SCHOOL (AHEAD), 24 X 12, W16-9p	20	ea	\$6.52	\$130.40
8	Primary	SCHOOL ADVANCED , 30 X 30, S1-1	15	ea	\$20.37	\$305.55
9	Primary	SCHOOL ADVANCED , 36 X 36, S1-1	10	ea	\$29.34	\$293.40

ELECTRO FILM (EC FILM): 3M BRAND, TRANSPARENT, ACRYLIC, PS, NO PUNCHINGS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	BLUE, 36 X 50 , 1175	2	ea	\$472.50	\$945.00
2	Primary	BLUE, 48 x 50, 1175	1	ea	\$630.00	\$630.00
3	Primary	BROWN, 36 X 50 , 1179	2	ea	\$472.50	\$945.00
4	Primary	BROWN, 48 X 50, 1179	1	ea	\$630.00	\$630.00
5	Primary	GREEN, 36 X 50, 1177	10	ea	\$472.50	\$4,725.00
6	Primary	GREEN, 48 X 50, 1177	2	ea	\$630.00	\$1,260.00
7	Primary	RED, 36 X 50, 1172	2	ea	\$472.50	\$945.00
8	Primary	RED, 48 X 50, 1172	2	ea	\$630.00	\$1,260.00

3M BRAND PRESPACING TRANSFER TAPE: SCPS-2, 'NO SUB'

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	PRESPACING TRANSFER TAPE, 4 X 100, SCPS-2	20	ea	\$34.58	\$691.60
2	Primary	PRESPACING TRANSFER TAPE, 6 X 100, SCPS-2	25	ea	\$35.87	\$896.75
3	Primary	PRESPACING TRANSFER TAPE, 8 X 100, SCPS-2	30	ea	\$61.68	\$1,850.40
4	Primary	PRESPACING TRANSFER TAPE, 12 X 100, SCPS-2	10	ea	\$69.58	\$695.80

ROLL GOODS SHEETING: 3M BRAND, 'NO SUB', ELECTROCUT FILM 7725-12, PS, NO HOLE PUNCHINGS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Primary	BLACK, 36 X 50, 7725-12	6	ea	\$382.50	\$2,295.00
2	Primary	BLACK, 48 X 50 , 7725- 12	6	ea	\$510.00	\$3,060.00

ROLL GOODS: 3M BRAND, "NO SUB", CONSPICUITY TAPE, DIAMOND GRADE, REFLECTIVE, PS

Line Item	Award Type	Description	Est. Quantity	Unit of Measure	Unit Cost	Total
1	Backup	RED / WHITE, 2 W X 150, 32ES	5	ea	\$99.10	\$495.50
2	Primary	WHITE, 8 X 50, 4090	10	ea	\$249.00	\$2,490.00
3	Primary	WHITE , 24 X 50, 4090	5	ea	\$747.00	\$3,735.00
4	Primary	WHITE, 30 X 50, 4090	8	ea	\$933.75	\$7,470.00
5	Primary	WHITE, 36 X 50, 4090	3	ea	\$1,120.50	\$3,361.50
6	Primary	YELLOW, 18 X 50, 4092	1	ea	\$560.25	\$560.25
7	Primary	YELLOW. 24 X 50, 4092	3	ea	\$747.00	\$2,241.00
8	Primary	YELLOW, 30 X 50, 4092	3	ea	\$933.75	\$2,801.25
9	Primary	YELLOW, 36 X 50, 4092	2	ea	\$1,120.50	\$2,241.00
10	Primary	RED, 18 X 50, 4092	2	ea	\$560.25	\$1,120.50
11	Primary	FLUORESCENT ORANGE, 48 X 50, 4084	1	ea	\$1,554.00	\$1,554.00
12	Primary	FLUORESCENT YELLOW- GREEN, 24 X 50, 4083	1	ea	\$747.00	\$747.00
13	Primary	FLUORESCENT YELLOW- GREEN, 30 X 50, 4083	1	ea	\$933.75	\$933.75
14	Primary	FLUORESCENT YELLOW- GREEN, 36 X 50, 4083	1	ea	\$1,120.50	\$1,120.50